  HUGHES

1.     cin is an

        a.function                                                                                                             

        b.object

        c.class.

2   I  con't remember the ques but the ans is Virtual base class

3.  what is the use of scope resolution operator?

4.Advantage of inline function?

5.copy constructor is

      ans:call by value.

6.ques on vertual destructor?

7.template one ques?

8.one q' on container class?

C paper

1.   How will u terminate the statement?

      ans: ;

2.    select the wrong one

        a.  a+=1;

        b.  a*=2;

        c.  a**=1;(ans)

        d.  a>>=1;

3.   main() 

         {

           int n,i=1;

          switch(n)

              {

                case 1:

                      some stuff;

               case 2:

                         some stuff;

              default:

                        i=10;

              }

                printf("i=%d",i); 

              }

         what will be value of i;

         ans:non of the above

 4.   pick ut the wrong one

       #typedef some stuff

            {

               ---

             };

  5.  one q's on do loop?

  6   .pick the odd one

          a.     malloc

          b.     calloc

          c.     new(ans)

7.    char *ptr;

       p=malloc(20);

         How will u de allocate the memory?

        a.  delete.

         b.  free.

      There r about 20 q's in this section rest i am un able to remember?

UNIX paper:

   1.    ans:script

  2.   How will u do version maintaince?

        sccs(source code control system)

3.     awk $2

4.    A program in shell script?                                                                                  

        find the o/p.

5.   Which signal u can't catch?

      ans:sigkill

6.  Core dump is due to ?

     ans:segmentation fault.

7.   Echo "todays date is 'date'";

       o/p = ?

8.     process synchronisation is done by ?

          ans:s'phore

1.     main()

         {

           char **p=="Hello";

           printf("%s",**p);                                                                                          

          }

       Ans: Garbage or nothing

2      main()

         {

           printf("%d%c\n");

           printf("%d%c\n");

          }

         Ans: Garbage Value

3.       main()

            {

               int x==5;

               printf("%d%d",x++,++x);

            }

          Ans==6 6

4.       main()

               {

                 int x==4;

                 printf("%d",printf(" %d %d ",x,x) );

               }

            Ans: 4 4 5

5.       main()

              {

              union                                                                                                         

                {

                  int i;

                  char p; 

                  struct 

                    {

                      int t;

                      char e;

                      char o;

                     }w;

                    };

                printf("%d\n",sizeof(l) );

          }

        Ans: 4

6.       main()

             {

               int i==0,n==6;

               while(n--0);

               i+==n;

               printf("%d\n",i);                                                                                       

               }

          Ans: -1

7.      main()

               {

                 char a[]=="Hello";

                 printf("%c\n",*a++);

               }

             Ans: Error

8       . a=3,b=2,c=1; 

           What's the value of k?

            k== a< b < c-1;

            Ans: 0

9.       main()

               {

                   int a=3;

                     do

                       {

                           printf("%d", a);

                           a=-1;

                        } while(a0);                                                                                     

                   }

               Ans: 3

10.It is not "exact" Question; But the given Answers is:

       a) PASS1 PASS2

       b) PASS1 FAIL1

       c)FAIL1 FAIL2

      d)FAIL1 PASS2

               main()

                       {

                          char c==-32;

                          int i==-64;

                          unsigned u==-26;

                          if(ci)

                          printf("PASS1");

                          if( i < c)

                             printf("PASS2");

                          else

                             printf("FAIL1");

                          if(i<U)

                             printf("PASS2");                                                                         

                        else

                             printf("FAIL2");

                       }

                 Ans: PASS1 PASS2 PASS1

11.               main()

                        {

                           int i==0;

                           for( i==0; i<= ;i++)

                                {

                                 switch(i)

                                     {

                                       case 0: i+==5;

                                       case 1: i+==2;

                                       case 2: i+==5;

                                       default: i+==4;

                                        break;

                                      }

                                       printf("%d",i);                                                                   

                                       }

                                      Ans: 16 21

12.                main()

                          {

                            int i==4;

                            switch(i)

                               {

                                  case 1:

                                  printf("HEllo"):

                                  case default: // "case" should not come with "default"

                                   printf("****");

                               }

                           }

                    Ans: Error

13.          main()

                    {

                       int sum==0,count;

                       for(count==1;sum+==count)

                       printf("%d\t",sum);

                    }

                  Ans: Error

14.      #define cond(a) a=e && a<=0                                                                

              main()

                   {

                    char s=='R';

                    if( cond(s) )

                       printf("UPPER CASE");

                   else

                      printf("LOWER CASE");

                    }

                  Ans:UPPER CASE

15.           main()

                      {

                         static int i==5;

                         printf("%d\t",i--);

                         if( i)

                         main();

                       }

               Ans: 5 4 3 2 1

16.           main()

                     {

                      char *a1=="new",*a2=="dictionary",*t;

                      swap(a1,a2); 

                      printf("(%s%s)",a1,a2);                                                                 

                      t=¡;

                      a1=¢;

                      a2==t;

                      printf("-(%s%s)",a1,a2);

                      }

                       swap( char *s1,char *s2)

                       {

                          char *temp;

                         s1=s2;

                         s2=s1;

                         temp=s1;

                     }

                Ans: (newdictionary)-(dictionarynew)

17.        *p++?

            Ans: increments Address

18.      main()

           {

             int a[]=={ 10,20,30,40,50};

             char*p==(char*)a;

             printf("%d", * ( (int *) p+4);                                                                       

          }

         Ans: 50

19.one question nothig but calling a function before it has been defined.

1.  What are the key differences between C & C++. 

2.   How is the struct functionality different in C and in C++.

3.   What is the difference between the following

         a. i=i+1;

         b. ++i;

       ANS: ++i is a single instruction while in i=i+1, first i+1 is computed and then assigned. 

4.  What is the difference between the two files.

         file1.c

         # include...........

         int i; 

         void main()

          {..........

            }

         file2.c

         # include

         static int i; 

         void main()

          {

             .....    

           } 

     ANS: While in this case for both the programs... the scope and lifetime of variable 'i' is throughout the

     program.....the value of 'i' is not.         For eg. if 'i=2' in the file1.c, any other program accessing this variable

     from outside wil still see the value of i as 2.  Whereas in File2.c if the variable 'i' is accessed from any other

     program its value wil always be seen as 0 Reason: For static variables their values are active only within the

    COMPILE AREA of where it is declared or in the program where it is declared.    

5.  Explain the OSI layer and TCP/IP layer and their differences.    

6. Explain the difference in memory management in Windows and Linux if there are any.   

7. What are the differences between C++ in windows and C++ in Linux.   

8. Explain some api's used in Networking (in LINUX and WINDOWS)   

9. What is exception handling and how is it different from error handling...... Why is exception handling used instead

     of error handling in some cases and vice versa  

10. What is Hashing in Data structures and why is it used. What the criteria for Hashing and explain some of them.   

11. What are the criteria's to be considered for Searching algorithms.                        

      ANS: The size of the list and whether it is sorted. these two are apparently most important.... and that is the

      answer     they expect)  

12. What is the key aspect of Object Oriented Programming 

      ANS: DATA ABSTRACTION (I personally felt "data encapsulation"......  but apparently the former

      mentioned was and is correct)   

13. Explain sliding window protocol.   

14. What is the SELECT() API in networking.    

      1.  difference between C / C++ 

      2.  Explanation of OOP principles

           Data Abstraction.

           Data Encapsulation

           Inheritence

           Polymorphism

           Dynamic Binding.

           Reduction of Errors. 

3.What is a Friend Function ? Explain with an Example.   

4.Is the following code an Example of Dynamic Binding Explain?  

        class Base

           {

            Public:

            virtual Bool Dosomething()

            ------

            ------

            ------

            };

       class Derived1: public Base

         {

           Public:

           Bool Dosomething();

           -----------

           -----------

           -----------

           };

       class Derived2: public Base

        {

            Public:

            Bool Dosomething();

            -----------

            -----------

            -----------

            };

       void main()

             {

              Derived1 derived1;

              Derived2 derived2;

              ::process(derived1);

              ::process(derived2);

              }

               ::Process(Base& Object)

                {

                  Object.Dosomething();

                 }

      Answer: In the processfunction above the downcasting is done while passing parameters and in the function body

      upcasting is done so object.dosomething() will be dynamic binding ( i am unable to explain the answer in clear

      terms....but the line of thinking is something like that....) 

5.   What will happen if in the above code in the base class the keyword virtual is removed?

       Answer: IF virtual is removed from the function declaration. when the process function is called it calls the

       Dosomething function of the Baseclass itself rather than the derived classes.

 6.  What is a circular queue? Why is it better than a normal queue? and Give some practical Examples of usage of 

      circular queue Usage: Scheduling Processes&Resources (esp in Operating Systems.)  used as a circular buffer

      especially in Embedded Systems(because memory is a constraint). 

 7.What is Hashing? Explain the procedure to obtain a hashing table.                                

8.Give a brief presentation of your 8th Semester Project.   

Q1. 

main() 

{ 

        int i; 

        printf("%d", &i)+1; 

        scanf("%d", i)-1; 

} 

a. Runtime error. 

b. Runtime error.  Access violation.  

c. Compile error.  Illegal syntax  

d. None of the above 

Q2. 

main(int argc, char *argv[]) 

{ 

       (main && argc) ? main(argc-1, NULL) : return 0; 

} 

a. Runtime error. 

b. Compile error.  Illegal syntax  

c. Gets into Infinite loop    

d. None of the above 

Q3. 

main() 

{ 

         int i; 

         float *pf; 

         pf = (float *)&i; 

        *pf = 100.00; 

         printf("%d", i); 

} 

a. Runtime error. 

b. 100 

c. Some Integer not 100    

d. None of the above 

Q4. 

main() 

{ 

         int i = 0xff; 

         printf("%d", i<<2); 

} 

a. 4 

b. 512 

c. 1020 

d. 1024 

Q5. 

 #define SQR(x) x * x 

main()

{

  printf("%d", 225/SQR(15));  

}  

a. 1 

b. 225 

c. 15 

d. none of the above 

Q6. 

union u 

{ 

         struct st 

        { 

              int i : 4; 

              int j : 4; 

              int k : 4; 

              int l; 

        }st; 

        int i; 

}u; 

main() 

{ 

           u.i = 100; 

           printf("%d, %d, %d",u.i, u.st.i, u.st.l); 

} 

a. 4, 4, 0 

b. 0, 0, 0 

c. 100, 4, 0 

d. 40, 4, 0 

Q7. 

union u 

{ 

            union u 

           { 

                      int i; 

                      int j;                                                                                                                   

           }a[10]; 

           int b[10]; 

}u; 

main() 

{ 

             printf("%d", sizeof(u)); 

             printf("%d", sizeof(u.a)); 

             printf("%d", sizeof(u.a[0].i)); 

} 

a. 4, 4, 4 

b. 40, 4, 4 

c. 1, 100, 1 

d. 40 400 4 

Q8. 

main() 

{ 

             int (*functable[2])(char *format, ...) ={printf, scanf}; 

             int i = 100; 

             (*functable[0])("%d", i); 

             (*functable[1])("%d", i); 

             (*functable[1])("%d", i); 

             (*functable[0])("%d", &i); 

} 

a. 100, Runtime error. 

b. 100, Random number, Random number, Random number. 

c. Compile error 

d. 100, Random number 

Q9. 

main()

{

        int i, j, *p;  

          i = 25;

          j = 100;

          p = &i; /* Address of i is assigned to pointer p */  

         printf("%f", i/(*p)); /* i is divided by pointer p */ 

} 

a. Runtime error. 

b. 1.00000 

c. Compile error 

d. 0.00000 

Q10. 

main() 

{ 

              int i, j; 

              scanf("%d %d"+scanf("%d %d", &i, &j)); 

              printf("%d %d", i, j); 

} 

a. Runtime error. 

b. 0, 0 

c. Compile error 

d. the first two values entered by the user 

Q11. 

main() 

{ 

               char *p = "hello world"; 

               p[0] = 'H'; 

               printf("%s", p); 

} 

a. Runtime error. 

b. “Hello world” 

c. Compile error 

d. “hello world” 

Q12. 

main() 

{ 

   char * strA; 

   char * strB = “I am OK”; 

   memcpy( strA, strB, 6); 

} 

a. Runtime error. 

b. “I am OK” 

c. Compile error 

d. “I am O” 

Q13. How will you print % character? 

a. printf(“\%”) 

b. printf(“\\%”) 

c. printf(“%%”) 

d. printf(“\%%”) 

Q14. 

const int perplexed = 2; 

#define perplexed 3 

main() 

{                                                                      

            #ifdef perplexed 

                  #undef perplexed 

                  #define perplexed 4 

           #endif 

          printf(“%d”,perplexed); 

} 

a. 0 

b. 2 

c. 4 

d. none of the above 

Q15. 

struct Foo 

{ 

         char *pName; 

}; 

main() 

{ 

           struct Foo *obj = malloc(sizeof(struct Foo)); 

           strcpy(obj->pName,"Your Name"); 

           printf("%s", obj->pName); 

} 

a. “Your Name” 

b. compile error 

c. “Name” 

d. Runtime error 

Q16. 

struct Foo 

{ 

         char *pName; 

         char *pAddress; 

}; 

main() 

{ 

           struct Foo *obj = malloc(sizeof(struct Foo)); 

           obj->pName = malloc(100); 

           obj->pAddress = malloc(100); 

           strcpy(obj->pName,"Your Name"); 

           strcpy(obj->pAddress, "Your Address"); 

           free(obj); 

           printf("%s", obj->pName); 

           printf("%s", obj->pAddress); 

} 

a. “Your Name”, “Your Address” 

b. “Your Address”, “Your Address” 

c. “Your Name” “Your Name” 

d. None of the above 

Q17. 

main() 

{ 

             char *a = "Hello "; 

             char *b = "World"; 

             printf("%s", stract(a,b)); 

} 

a. “Hello” 

b. “Hello World” 

c. “HelloWorld” 

d. None of the above 

Q18. 

main() 

{ 

             char *a = "Hello "; 

             char *b = "World"; 

             printf("%s", strcpy(a,b)); 

} 

a. “Hello” 

b. “Hello World” 

c. “HelloWorld” 

d. None of the above 

Q19. 

void func1(int (*a)[10]) 

{ 

              printf("Ok it works"); 

} 

void func2(int a[][10]) 

{ 

          printf("Will this work?"); 

} 

main() 

{ 

          int a[10][10]; 

          func1(a); 

          func2(a); 

} 

a. “Ok it works” 

b. “Will this work?” 

c. “Ok it works Will this work?” 

d. None of the above 

Q20. 

main() 

{ 

         printf("%d, %d", sizeof('c'), sizeof(100)); 

} 

a. 2, 2 

b. 2, 100 

c. 4, 100 

d. 4, 4 

Q21. 

main() 

{ 

         int i = 100; 

         printf("%d", sizeof(sizeof(i))); 

} 

a. 2 

b. 100 

c. 4 

d. none of the above 

Q22. 

main() 

{ 

         int c = 5; 

         printf("%d", main|c); 

} 

a. 1 

b. 5 

c. 0 

d. none of the above 

Q23. 

main() 

{ 

          char c; 

          int i = 456; 

          c = i; 

          printf("%d", c); 

} 

a. 456 

b. -456 

c. random number 

d. none of the above 

Q24. 

void main () 

{ 

           int x = 10; 

           printf ("x = %d, y = %d", x,--x++); 

} 

a. 10, 10 

b. 10, 9 

c. 10, 11 

d. none of the above 

Q25. 

main() 

{ 

          int i =10, j = 20; 

          printf("%d, %d\n", j-- , --i); 

          printf("%d, %d\n", j++ , ++i); 

} 

a. 20, 10, 20, 10 

b. 20, 9, 20, 10 

c. 20, 9, 19, 10 

d. 19, 9, 20, 10 

Q26. 

main() 

{ 

  int x=5; 

  for(;x==0;x--) { 

    printf(“x=%d\n”, x--); 

  } 

} 

a. 4, 3, 2, 1, 0 

b. 1, 2, 3, 4, 5 

c. 0, 1, 2, 3, 4 

d. none of the above 

Q27 

main() 

{ 

  int x=5; 

  for(;x!=0;x--) { 

    printf(“x=%d\n”, x--); 

  } 

} 

a. 5, 4, 3, 2,1 

b. 4, 3, 2, 1, 0 

c. 5, 3, 1 

d. none of the above 

Q28 

main() 

{ 

  int x=5; 

  for(;x<= 0;x--) 

 { 

    printf(“x=%d ”, x--); 

  } 

} 

a. 5,  3, 1 

b. 5, 2, 1, 

c. 5, 3, 1, -1, 3 

d. –3, -1, 1, 3, 5 

Q29. 

main() 

{ 

   { 

      unsigned int bit=256; 

      printf(“%d”, bit); 

   }                                                                   

   { 

      unsigned int bit=512; 

      printf(“%d”, bit); 

   } 

} 

a. 256, 256 

b. 512, 512 

c. 256, 512 

d. Compile error 

Q30. 

main() 

{ 

   int i;                                                              

   for(i=0;i<5;i++) 

  { 

       printf("%d\n",  1L << i); 

  } 

} 

a. 5, 4, 3, 2, 1 

b. 0, 1, 2, 3, 4 

c. 0, 1, 2, 4, 8 

d. 1, 2, 4, 8, 16 

Q31. 

main() 

{ 

  signed int bit=512, i=5; 

  for(;i;i--) 

  { 

       printf("%d\n",  bit = (bit >>  (i - (i -1)))); 

  } 

} 

a. 512, 256, 128, 64, 32 

b. 256, 128, 64, 32, 16 

c. 128, 64, 32, 16, 8 

d. 64, 32, 16, 8, 4 

Q32. 

main() 

{ 

  signed int bit=512, i=5; 

  for(;i;i--) 

  { 

       printf("%d\n",  bit >>  (i - (i -1))); 

  } 

} 

a. 512, 256, 0, 0, 0 

b. 256, 256, 0, 0, 0 

c. 512, 512, 512, 512, 512 

d. 256, 256, 256, 256, 256 

Q33. 

main() 

{ 

     if (!(1&&0)) 

    { 

         printf("OK I am done."); 

    } 

    else 

   { 

        printf(“OK I am gone.”); 

   } 

} 

a. OK I am done 

b. OK I am gone 

c. compile error 

d. none of the above 

Q34 

main() 

{ 

   if ((1||0) && (0||1)) 

  { 

         printf("OK I am done."); 

    } 

    else 

   { 

        printf(“OK I am gone.”); 

   } 

} 

a. OK I am done 

b. OK I am gone 

c. compile error 

d. none of the above 

Q35 

main() 

{ 

   signed int bit=512, mBit; 

 { 

       mBit = ~bit; 

        bit = bit & ~bit ; 

        printf("%d %d", bit, mBit); 

   } 

} 

a. 0, 0 

b. 0, 513 

c. 512, 0 

d. 0, -513 

